
The table shows the places that 20 

primary school pupils visited in the 
summer holidays.

They each visited one place.

What percentage of people visited France?

(2 marks)

Race Entered Number of Pupils

Egg and Spoon 8

3-legged 20

Sack 12

Obstacle 10

8+20+12+10=50

50 people in total 

8

50
=

16

100
= 16%

Because 100 ÷ 50 = 2

x2

x2

The table shows the races that 50 primary 
school pupils entered on their Sports Day.

They each entered one race.

Race Entered Number of Pupils

Scotland 8

France 4

Spain 3

America 5

Work out the percentage of pupils who 

entered the egg and spoon race.       

(2 marks)
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